
qm= ;+= of]hgfsf] gfd :yfg÷&]ufgf ljlgof]hg /sd ?=

s

1 s[lif sfo{qmd j*f g+= 8, a/fª\bL 100000.00

2 lzjf;g dlGb/ sDkf)* / zf}rfno j*f g+= 8, a/fª\bL 100000.00

hDdf M” 200000.00

v

1 l#p;Laf;”lnlbgvf]nf”efn'vf]nf lnk\m^ vfg]kfgL of]hgf j*f g+= 8, a/fª\bL 1000000.00

2 wf/]vf]nf a/fª\bL vfg]kfgL of]hgf j*f g+= 8, a/fª\bL 500000.00

3 kz' :jf:Yo pks/)f / sfo{qmd j*f g+= 8, a/fª\bL 100000.00

4 :jf:Yo sfo{qmd j*f g+= 8, a/fª\bL 100000.00

5 j]b df= lj= sDkfp)* lgdf{)f j*f g+= 8, a/fª\bL 100000.00

hDdf M” 1800000.00

u

1 (fjvf]nf sf&]u}+/f kmnfn] df]̂ / af^f] lgdf{)f of]hgf j*f g+= 8, a/fª\bL 500000.00

2 wf/fkfgL arfª\bL df]̂ / af^f] j*f g+= 8, a/fª\bL 180000.00

3 vf];|]vf]nf wf/f] kw]/f Gof}kfg]*f+*f «̂]= af^f] j*f g+= 8, a/fª\bL 180000.00

4 a]nf]tLvs{ df]^/ af^f] j*f g+= 8, a/fª\bL 100000.00

5 h}+;L^f]nf s')* df]̂ / af^f] j*f g+= 8, a/fª\bL 115000.00

6 j*f g+= 8 df]̂ / af^f] ;/;kmfO{ of]hgf j*f g+= 8, a/fª\bL 100000.00

hDdf M” 1175000.00

#

1 l;$afaf jg If]q l;df+sg ;+/If)f, j[Iff/f]k)f / ko{^g j*f g+= 8 j/fªbL 100000.00

ª

1
tYof+s ;+:yfut ljsf;, ;'zf;g, ;"rgf k|ljlw sfof{no 
Aoj:yfkg j*f g+= 8 j/fªbL 100000.00

1 dlxnf ” Aoj;flos cb'jf v]tL sfo{qmd j*f g+= 8 j/fªbL 75000.00

2 afnjflnsf ” jfn ;r]tgf sfo{qmd j*f g+= 8 j/fªbL 40000.00

3             ” ;/;/kmfO{ tyf jfn k'/:sf/ j*f g+= 8 j/fªbL 35000.00

5 hghftL ” wf/fkfgL uf]/]̂ f] af^f] dd{t j*f g+= 8 j/fªbL 20000.00

6         ” ;r]tgf tflnd j*f g+= 8 j/fªbL 17500.00

7 ckf· ” cf}ifwL pkrf/ j*f g+= 8 j/fªbL 17500.00

8     ”Aoj;flos t/sf/L v]tL, kz'kfng k+IfL kfng sfo{qmd j*f g+= 8 j/fªbL 20000.00

9 blnt ” blnt al:tdf ;fd'lxs s'v'/fkfng sfo{qmd j*f g+= 8 j/fªbL 37500.00

jftfj/)f tyf ljkb\ Aoj:yfkg If]q tk{m M

;+:yfut ljsf; tyf ;]jf k|jfx / ;'”zf;g If]q tk{m M

cGo M 

augf;sfnL ufp“kflnsf

8 g+= j*f sfof{no, a/f·bL, kfNkf

cf= j= 074÷75 sf nflu j*f e]nfaf^ kfl/t eO{ ufp“ sfo{kflnsfdf k]z ePsf of]hgf÷sfo{qmdx?

cfly{s ljsf; If]q tk{m M

;fdflhs ljsf; If]q tk{m M

k"jf{wf/ ljsf; If]q tk{m M



4 h]i&gful/s ” ;Ddfg tyf cf}ifwL pkrf/, e|d)f j*f g+= 8 j/fªbL 37500.00

hDdf M” 300000.00

s]Gb|df dfu ug]{ of]hgfx?

1 j]b df= lj= sDkfp)* lgdf{)f of]hgf

2 8 g+= j*f sfof{no ejg tnf yk

3 lem/eGHof· (fkvf]nf h}+;L^f]nf 

4 lem/eGHof· lzjf;g Gof}kfg]*f“*f l;$afaf

5 :jf:Yo rf}sL ejg lgdf{)f of]hgf

ufp“kflnsfdf dfu ug]{ of]hgfx? M

1 b]p/fnL b]lv j*f sfof{no;Dd hfg] df]]^/ af^f], (n lgdf{)f

2 efn'vf]nf tyf jaLvf]nf d"n ;+/If)f, kfOk dd{t ;+ef/

3
lem/eGHof· b]lv l;$ky x'b} x/*f+*f vfgLufp b}nft'· /fgLdxn 
hf]*\g] df]̂ / af^f] 

4 l#p;Laf; (fkvf]nf lj/f}^f l;+rfO{ of]hgf

5 l;$afaf v]n d}bfg, zf}rfno / j*f sfof{no sDkfp)* lg=



s}lkmot




